Math 9 







        Name_________________
Unit: Linear Inequalities




Day ___ Period ___











Date _________________
Solving linear inequalities using multiplication & division
 (Lesson 4)

Objectives: 

· Determine how multiplying a polynomial by a + or – numbers affects an inequality
· Determine how dividing a polynomial by a + or – numbers affects an inequality
Investigation #1- Work in the groups you are assigned 
· Replace each ( with a < or > to create a true statement.


Multiplication Pattern

            Division Pattern



       12 > 6




            12 > 6



12(-3) ( 6(-3)



12 ( (-3) ( 6 ( (-3)




12(-2) ( 6(-2)



12 ( (-2) ( 6 ( (-2)




12(-1) ( 6(-1)


         12 ( (-1) ( 6 ( (-1)




12(1)  ( 6(1)



12 ( (1)  ( 6 ( (1)




12(2)  ( 6(2)



12 ( (2)  ( 6 ( (2)




12(3)  ( 6(3)


         12 ( (3)  ( 6 ( (3)

Compare the inequality signs in the pattern with the inequality sign in 12 > 6. 

When did the inequality sign stay the same?

When did the inequality sign change?

Investigation #2
A) Multiplying or dividing by a positive number:
Consider the inequality:  -2 < 4

Multiply each side of the inequality by 2.



Divide each side of the inequality by 2.
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B) Multiplying or dividing by a negative number:

Consider the inequality:  -2 < 4

Multiply each side of the inequality by -2.
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Divide each side of the inequality by -2.
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Properties of Inequalities:

· When each side of an inequality is multiplied or divided by a ________________ number the inequality sign ________________________________.

· When each side of an inequality is multiplied or divided by a ________________ number the inequality sign  _____________________ for the inequality to remain true.
Examples:

a) State whether you would reverse the inequality sign to solve each inequality? 

b) Solve each inequality.

1) -5a < 25





2)   7a < -21

3) 
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Word problem: page 358 #15

Megan is competing in a series of mountain bike races this season.  She gets 6 points for each race she wins.  If she gets more than 50 points total, she will move up to the next racing category.  How many race wins this season will allow her to move up to the next category?

a) Use an inequality to represent the problem.

b) Determine the solution.

c) Is the boundary point a reasonable solution to the number of race wins?  Explain.


Practice questions to complete
· pages 357 to 359 # 6bc, 7bc, 8, 10bc, 12b, 14, 16a, 20, 24, 25
· Challenge Question #28
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